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1.What can you identify with the Top-Down and Bottom-Up Analysis in the Batch Information Cockpit?
Note: There are 2 correct answers to this question.

A. Which raw material batches are used to produce which finished product

B. Which batch managed materials are purchased from which supplier

C. Which batches are delivered to which customer

D. Which batches are delivered from which distribution center

Answer: A,C

2.Which of the following scenarios can be performed either using or not using shipping activities? Note:
There are 3 correct answers to this question.

A. One-step stock transfer between plants

B. Return to supplier

C. Goods receipt for external procurement

D. Provision of subcontracting components

E. Goods issue for sales order

Answer: B,C,D

3.In which implementation phase do you perform data load preparation?
A. Explore
B. Prepare
C. Realize
D. Deploy
Answer: A

4. What are some characteristics of the supplier consignment stock? Note: There are 3 correct answers
to this question.

A. Consignment stock is owned by the supplier

B. Blocked consignment stock can be transferred to your own stock

C. Consignment stock is managed specific to supplier at the storage location level

D. Consignment stock belongs to your valuated inventory

E. Unrestricted-use consignment stock is available for planning

Answer: A,C,E

5.Which of the following options are available for creating inbound deliveries? Note: There are 2 correct
answers to this question.

A. Automatically with a background job

B. Automatically when saving a purchase order

C. Manually with reference to a purchase order

D. Manually with reference to a material document

Answer: A,C
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